FadzRe R FI9FERY - FP % - RLY - £ uadkF PR
=z T OREE ¥ R
CEBAT AALA A £ 324
I TolimEEs A st ?

(A) 7x—3y+5 (B)x?—4x (C)x—6y+1=0 (D)7x—y?>=6

()2 caex=4 y=—15 B TH— B - S Nenimdo] ?
(A) —5x+4y  (B) —6x—y  (C)4x+y  (D)3x—2y

( )3. X:_B\yZS{ 7-1%-— E’"L,-—- k ﬁf-rzg \‘E‘i”ﬁ;?

2X+Yy=5 x+y=-—1 X+2y=—7 X-+2y=7
(A) B (B) B (©) B (D) B
3X—2y=-—3 X—y=7 X—24y=13 Xx—2y=—13
( 4. MHy=8...... O 2= RAEBONFR AT 5w B340 LA 2@ 72 Q8¢ ehy?
#ax=—y+3.0@ F L% FERAT A BN R QN T AQN Yy
8-y y—8

(A)y=4x—8 (B) y=8—4x (C)X=T (D) x=

( )5, M T w e F it o vR- a2 - - B 2 et {4X+3y=—2...® ¢A Srlic X ?
(A>3 : Dx3—@x2 (B)? £ : Ox4+@x3 ©O)reikm : Ox4—Q@x%x3 (D)sF4s + Ox3+ %2

( 6. K CEiryh e T4 7THr Ew+d 4H=FE (2, —3) RCBLELZF?
(A) (6, =100 (B)(—-2,4) (©)(=5,1) (D)9, =7)

( )T. Fcd>0>c+d<0> P ™ 7|vR— L % = % *T 9
(A) (d?,—c) B)(—d,c) (©)(d, —[c]) (D)(c, —d)

(D8 46237 ~2 ~FZBEF > ZHP RABEG - £k o AT Ak 2E [ LR R
FrKE G R AT P KES2E F40FH ; R B2 7};{(&5’1](}_»“'3@)\]:57};{ ) LLE&I:G*XH"J\"Q‘T;}%'?\
N R B3 120 F S o FiEARY RRFED R RAT seAafp vk ERL S EL D
(A)80  (B)110  (C)160  (D)220

I NEEE I ER LA E A8 A

1. @ i‘ry_%x+32 He yRAECERBRE X S4B ER R E- TR E AN 25K 0 RIAP

FREER B
2. A X~y A FHESO0 Bl - &2 AR x+H3y=15 % 3 EfR
3. fAz A- Am o A2 x=3y=8

A 1 13x+10y =5
P P 2Xx—=3y—-3=3x+2y-11
P T T Lok e 3y =3 .

- Ix-2y-3
5. f&z ~—- X 42 4 3 ) o
oX+4y=8

6. © s AR A 1%12%"‘&%11%;:30%0;
- #FLFnIl - g P TS F 7 35kRAIRM 0 DR
RA? F o oo ()

% Py

ﬁ%i’—#“ﬁ%ixﬁﬁﬂx’yﬁ“ii;
L p R A s - EoFIIE 5O AT A AT

I\J =




[%2F [ #5£27 ]

7. & 3X+8y=6> A 8(x—3y)+5(2x+9y)—3(3x—y)= o
8. P & LT a > B8P (0,5)EH: 47 hydh! gk iR L (¥ % R)
,V
y . D A

9. 4o+ B > = :#3,ABCD 5 :##& 8enit >3, EBELHEE (6,-2) P|Dg&iE

EN A o
0 o
6, B

10. @ rf EXMNER T RAI NI B S 1A D ERRAERLRFELTHAB R LECRELLP?
% A o

11 - BAH e A3 b AT X 4 FRA T4l A3 0 3 PIA* RIS T hd o Pl Adcs i ?
£ :

12, 4RI o> e P g ®G RE S RIFZ 7 (3, —4) chizg | I[P Laﬁs'ﬁé o R R (—7,8) i

ﬁofgﬁf“;%?%%"’f‘h N(S?)’E‘ ‘P"?\L_m'ﬂl‘w

3\gaggg:£{tg4/,,\,;48/;

1. 2 wa<0-b>0 @A%™ 5 & B % B %A vi- dffph b 2 (58~ 5L A~F) (2 1%)
(A) - %2 (B) =2 % (C) =% (D) %z %" (E)X%(F)y%

(HP(a®, —=b) : =
2Q(—-ab) : -

3)R(@a—b _by

() (a ' a)  —_
4s@Ob—-a) :____ -

2. e awA(—-1,3)-B( —2,-4)~C(7,0)~-D(0, =5)~E@3,1) ~F(6,8) #FEIP I &7T7ifitegh o
(3 5L AF) (& 14)
(1) fex#ht : 0
(2) BEHE X phBif ¢ °
(3) FEAp Yy BT _ 0 o
(4) %= %2 °

N EREROEA R 124

1. bfrriﬁaﬂlsm’}éwa«fzzom’ra #HE T X ER frya&}fn(ﬁé*m%) i 240 & > HR
L3 AEEEY

2. § ~H3 2324 by 13%5}3% FI A 2@ Ay 15 >3 3B Ay 13 BV Mgz > BT ~ &4
£ 5042 GFRNREGE @)



Fad WL FAY FI9F LRS- FHE - B - EREFPEES

- & FL RE: g
Birigpr F2d £15E 5 3 RH0104
T ERL (FAAS e 520 1 2 3 4 =5
5 6 7 8
S BAM(E R 4 A £ 48 A) MR
Gr#trgREr 28> FEHER AP IL)
1) ) 3) (4) (5)
(6) (7) (8) (9) (10)
(11) (12)
=R EAE (AR R84
1 (G ~5LA~F) (&14) (2. GG~ 5ASF) (&14
gi()P(a®, —b) : ° (1) mxgnlt o °
@Q(—-ab) - - (2) BEH xghdig 1 o
(4) &%= g2
4s@Ob—a -

o RAL (FH6A 0 X 1240) (GFR ARV @R FRIZAPA)

1.(6 ) 2. (64 )




Ep-xmnEi¥
—- ERN (E4A 5 E320)

CADBC BDA
:\iﬁfu%(ﬁﬁll/w\’ié 48/,})
(1) 77 (2) 6 (3) x=5y=—-1 (4)x=3,y=1 (5) x=4,y=—

(6) 12x+30y—24  (7)18  (8)(0,9)4=(0,1) 9)(—2:6)  (10)49

(11) % (12) (1,11)

R AL (FALAAS 0 £ 8A)

1. : ()D (@AOA (BB @GF
2. MHC AF (Db @A
o RAL (FAE6 A 0 K 12 4)
1. % :34
2. % 194 144 5 44 184
* € R
(D4rk 3 Hi B3 5 B FEREL
@)?ﬁé%iﬁ:@&’%%%¢°
1. (%% %%)
15x+20y 240 (F12 4255 1 4)
3X +4y=48 FHFhiE-EfEle > 20 F#cfi)
x | 4 |8] 12
y | 96| 3 (#5 975 & R 3 4)
£ 34 (2 x1~)
2.(%% B %)
ES EA D SR e M I (B 14)
X+y=32...... D
SHE=13....@ (P17 4258 14)
@x6 # 1 (2o A2l 4)
3X +2y=78......0
DOx2 7 3
2X+2y=64...... @
Q@—DF 3|
X =14 #wQOs" (Frzfedi x @ 14)
#3ly =18 (TrEfdiy #14)
194 14443 184 (BE1A)



